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Make Values program

This is a Visual Basic Program to illustrate how the three words from an addition Crytparithm 

STUBTOES + FOURDOOR = DUOAORBB

can be converted to three equivalent integer values using a generated perm. In this illustration the ten letters of the Cryptarithm, derived from the three words, are STUBOEFRDA.  The perm used is 5089721463, which is the correct perm to solve the Cryptarithm. 

This program can be implemented from the Visual Basic Editor in Excel or Word as described in the accompanying document entitled “Visual Basic from Excel or Word”. To do so drop a text box and a command button on a form, double click the command button and paste the program below onto the revealed code window.

_________________________________________________

Private Sub CommandButton1_Click()

Dim word(5) As String

Dim alpha As String

Dim index(5, 20) As Integer

Dim a(-1 To 20) As Integer

Dim flag, now As Integer

Dim value(5) As Double

word(0) = "STUBTOES"

word(1) = "FOURDOOR"

word(2) = "DUOAORBB"

now = 3            ' number of words

' prepare word display

Line = Line + "word(0) = " + word(0) + vbCrLf   'Line will be displayed at end of program

Line = Line + "word(1) = " + word(1) + vbCrLf   'vbCrLf is a carriage return plus line feed

Line = Line + "word(2) = " + word(2) + vbCrLf + vbCrLf

' make alpha

For j = 0 To now - 1

 For k = 1 To Len(word(j))

  flag = 0

  For m = 1 To Len(alpha)

   If Mid$(word(j), k, 1) = Mid$(alpha, m, 1) Then flag = 1

  Next m

  If flag = 0 Then alpha = alpha + Mid$(word(j), k, 1)

 Next k

Next j

Line = Line + "derived alpha=" + alpha + vbCrLf + vbCrLf

'make index()

 For j = 0 To now - 1

  t = 0

  For k = 1 To Len(word(j))

    For m = 1 To Len(alpha)

      If Mid$(word(j), k, 1) = Mid$(alpha, m, 1) Then t = t + 1: index(j, t) = m - 1

    Next m

  Next k

Next j

' prepare indices display

For j = 0 To now - 1

  Line = Line + "index(" + Str(j) + ")= "

  For k = 1 To 8

    Line = Line + Str(index(j, k))

  Next k

  Line = Line + vbCrLf

Next j

  Line = Line + vbCrLf

 ' this is value of a perm. In practice the perms would be generated

 a(0) = 5: a(1) = 0: a(2) = 8: a(3) = 9: a(4) = 7

 a(5) = 2: a(6) = 1: a(7) = 4: a(8) = 6: a(9) = 3

 ' prepare perm display

 Line = Line + "if perm = "

 For j = 0 To 9

   Line = Line + Str(a(j))

 Next j

 Line = Line + vbCrLf + vbCrLf

' calculate values of each word from relevant index and the perm

For j = 0 To now - 1

 value(j) = 0

 For k = 1 To Len(word(j))

   x = a(index(j, k))

   value(j) = value(j) + x * 10 ^ (8 - k)

 Next k

Next j

' prepare values display

Line = Line + "value(0) = " + Str(value(0)) + vbCrLf

Line = Line + "value(1) = " + Str(value(1)) + vbCrLf

Line = Line + "value(2) = " + Str(value(2))

' display all

TextBox1.Text = Line

End Sub

_____________________________________________________________________

Private Sub TextBox1_Change()

End Sub

_____________________________________________________________________

